U3:L2 Quadra+ics in s+andard rForm

The standard form of a quadratic is...

OO = b+

Where a, b, c are real numbers and a # 0.
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To find the x-coordinate of the vertex, use
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A diver jumps from a 3m springboard with an initial vertical velocity of 6.8 m/s. Her

height (h in meters) above the water, t seconds, after leaving the diving board can
be represented by the function:

- h(t) = —49t% + 6.8t + 3

) Graph the function. B = “4’ q’lkz' *GO?‘X'\"‘S

) What does the y-intercept represent?

Where She Stalts
M 3 C On Springbodey

c) What is the maximum height of the diver? When does she reach that

(0,@%)%:55%\ S A &

) How long is the diver in the alr?

(1734,0) X ereent

) What is the height of the diver 0.6 seconds after leaving the board?
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Joe Bob is making an ice rink in his yard. He has 100m of boards to use as
perimeter.

a) Write a quadratic function in standard form to represent thf the

rink: P._Q,Q +Q A"'-’vQ.X‘JJ
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b) What are the coordinates of the./v hat does the vertex represent?
‘a= q‘x:-l-l%’x-t-c. W== | @Y +50(25)+0
=25 ==W?*+o0uw + - -
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(25, ‘25 gketch the graph.
) Determine the domam and range.
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e) ldentify any assumptions you made to solve this.

& He uses ALLMpﬂncinoh,
* He s wnlimited pecfect space P

A perPect rectanghn rink.
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oo net work




